

Nduka Nnamaka Favou - Francis

16/ENG02/032.

Computer Engineering
Assignment

16/10/2017.

Q The parametric

Solution

$$1a) \quad R = \left\{ 1 + \left(\frac{dy}{dx} \right)^2 \right\}^{3/2}$$
$$\frac{d^2y}{dx^2}$$

$$x \Rightarrow \cos t + t \sin t$$

$$\frac{dx}{dt} \Rightarrow -\sin t + t \cos t + \sin t$$

$$\frac{dx}{dt} = t \cos t$$

$$y = \sin t - t \cos t$$

$$\frac{dy}{dt} = \cos t - (-t \sin t + \cos t)$$

$$\frac{dy}{dt} = \cos t + t \sin t - \cos t$$
$$= t \sin t$$

$$\frac{dy}{dx} = \frac{dy}{dt} \times \frac{dt}{dx}$$

$$= t \sin t \times \frac{1}{t \cos t} = \frac{t \sin t}{t \cos t} = \frac{\sin t}{\cos t}$$

$$\frac{d^2y}{dx^2} = \frac{d}{dx} \left(\frac{dy}{dx} \right)$$

$$= \frac{d}{dt} \left(\frac{dy}{dx} \right) \times \frac{dt}{dx}$$

$$\frac{d}{dt} \left(\frac{\sin t}{\cos t} \right) \cdot \frac{dt}{dx}$$

$$\frac{d^2y}{dx^2} = \frac{v \frac{dy}{dx} - u \frac{dv}{dx}}{v^2}$$

Where $v = \cos t$
 $du = \sin t$
 $u = \sin t$

$$\frac{d^2y}{dx^2} = \frac{\cos^2 t + \sin^2 t}{\cos^2 t} \times \frac{dt}{dx}$$

Recall that $\cos^2 t + \sin^2 t = 1$

$$\frac{1}{\cos^2 t} \times \frac{1}{\tan t} = \frac{1}{t \cos^3 t}$$

Also recall that

$$R = \left\{ 1 + \left(\frac{dy}{dx} \right)^2 \right\}^{3/2}$$

$$\frac{d^2y}{dx^2}$$

$$R = \left\{ 1 + \left(\frac{\sin t}{\cos t} \right)^2 \right\}^{3/2}$$

$$\frac{1}{t \cos^3 t}$$

$$R = \left\{ \frac{1 + \sin^2 t}{\cos^2 t} \right\}^{3/2}$$

$$\frac{1}{t \cos^3 t}$$

$$R = \left(1 + \frac{\sin^2 t}{\cos^2 t} \right)^{3/2} \times \frac{t \cos^3 t}{1}$$

$$R = \left(\frac{\cos^2 t + \sin^2 t}{\cos^2 t} \right)^{3/2} \times t \cos^3 t.$$

$$R = \frac{1}{(\cos^2 t)^{3/2}} \cdot t \cos^3 t$$

$$= \frac{1}{(\sqrt{\cos^2 t})^3} \times t \cos^3 t$$

$$R = \frac{t \cos^3 t}{(\sqrt{\cos^2 t})^3}$$

$$R = \frac{t}{1} = t$$

(b) $h = x_1 - R \sin t - 1$
 $k = y_1 + R \cos t - 2$

$$R = t \quad t = \theta$$

$$x_1 = \cos t + t \sin t$$

$$y_1 = \sin t - t \cos t$$

Substituting x_1 in equ 1 and y_1 in equ 2

$$h = \cos t + t \sin t - t \sin t$$

$$h = \cos t.$$

$$k = \sin t - t \cos t + t \cos t$$

$$k = \sin t$$

$$\therefore (h, k) = (\cos t, \sin t).$$